Insurance as Risk Moderator
In life there are risks. Many of these risks are small risks and are easily dealt with or avoided. However, there are some events in life that are very costly if one is unlucky enough to experience them. For example, if a person’s house is destroyed by a natural disaster like a wild fire or tornado, very few people have the means to rebuild a house. In this country most people’s wealth is tied up in the value of their house and their vehicles. When the things that hold the most wealth in people’s lives are destroyed, they are left destitute. 
Thus we have insurance. Insurance is a way to lower the cost of risk. By driving  a vehicle in public, a person takes a risk that they may become involved in a collision at some point. In most cases the costs resulting from the collision are very high, so high that an average person does not have the means to pay for the resulting costs. Having automobile insurance does not lower or mitigate the risk of having such a collision, but it does mitigate the costs incurred. 
Insurance is really privatized, legalized gambling based on private subsidies. In the case of vehicles, insurance companies make the bet that a person is not going to have an automobile accident in a given month. The person then makes the bet that they will have an accident during the same month and both parties agree on a wager level (This is sort of a misnomer as the insurance company generally sets a price, but the person agrees to the wager when they pay said price.).  The insurance company then pools all the bets together uses its winnings to cover (subsidizes) the bets it loses. The benefit is that more people are able to afford the risky behavior of driving a car. 
Since this is gambling, the insurance companies do not think it would be fair (and rightly so) if the bets were able to be stacked against them. Therefore, a law is created to make committing fraud with an insurance company a crime. This ensures that people are not going out and just wrecking their vehicles to get compensation for a new one. Furthermore, the insurance companies want their customers to avoid something called moral hazard. The specific moral hazard they wish to avoid is rewarding those who drive recklessly while alienating those who don’t. Consequently, insurance companies keep driving histories of drivers and set higher wager levels (premiums) for those drivers deemed to have more risky attributes. In addition, insurance companies do not want to have to pay out small winnings to many different customers, so they create deductibles or minimum losses their customers have to incur before they admit they lost the bet.
While many peoples’ experience with insurance companies may be less than stellar, the act of aggregating wealth and redistributing it to those in need is one of the things that drives the economy to be bigger. By lowering the penalties of the risks involved, more people are willing to purchase homes, automobiles, office buildings, and factories.  Recalculating each person’s “fair share” based on their behaviors and statistical analysis of those behaviors seems reasonable. For certain markets, where risk can be spread out through a large population, insurance seems like a reasonable mechanism for lowering the costs of risk.

This is not what happens in a market where the costs are just as high with respect to average incomes but the likelihood of incurring those costs is at or near 100%. Imagine a hypothetical plant society where the major method of paying for water is through an insurance mechanism. Everyone needs water to survive. This means that everyone is going to be making an insurance claim for water. There is no way to aggregate wealth and redistribute based on risk when all bets are losing bets. A smart insurance company would opt not to make a bet on the largest of the water users, an even more prudent venture would be to not make any bets. Even still, all of the customers the insurance companies do accept would still require some amount of water and will therefore still make some claim. Thus the insurance company has no choice but to charge a premium that not only covers the cost of the water but also the insurance company’s overhead. Thus, every customer is paying more than the actual cost of the water in insurance premiums (even the cacti). The heavy water users either go without insurance and die or try to buy water on the open market. However, since the insurance companies represent so many plants they are able to negotiate lower rates for their customers leaving the water suppliers to augment their loss of profit to the insurance company by charging higher prices on the open market. This situation leaves only the wealthiest heavy water users alive and only the desert plants on insurance and society incurs a large economic inefficiency. 
In this hypothetical example, the water market is an example of a “spontaneous monopoly.” This is a situation where competition actually brings inefficiency to the system instead of the efficiency one would expect. There are certain markets where having one supplier of a good or service is actually more cost effective and efficient for society as a whole. Water and electricity procurement and delivery are both examples. It would be highly inefficient to have multiple electric and aquatic grids overlaid in an area. The infrastructure cost to each of the competing companies would be quite high. There would also be wasted infrastructure with all of the duplicate pipes and electrical cable being built. In cases like this, it is more preferable to have one entity that controls and provides these services. A for profit company in such a monopolistic situation would take advantage of the situation and charge higher rates than its average cost of each additional unit produced according to microeconomic theory. Consequently, the most efficient entity to have such a monopoly would be a government agency or non-profit company. Both of these entities could be legislated to ensure that only costs of the services are being paid for and not inefficient profits.
